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ST eI eI SHA
ITE— % BER T 2k P
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x| | R | m | R | mee| e | 2 |er axe| 20| T
1 TS [ri] 5H +1 -480 [ri] 4H +2 -480
2 it [£3] 3NT -1 -100 [£3] 3C = 110 5
3 ,?ﬁ [£3] 3NT +1 430 [£3] 3NT +2 460 1
4 E=] 1t 2C = 90 [ri] 2D -2 200 3
5 it [ri] 6H = -980 [ri] 6H = -980
6 ,?ﬁ x 3NT -1 100 x 3NT -1 100
7 PE=] 1t 3NT +3 690 1t 3C -2 -200 13
8 TS x 3D -1 50 [ri] 2S -2 100 2
9 ,?ﬁ 1t 3NT +3 490 1t 3NT +2 460 1
10 | \WHB [ri] 1S -1 100 1t 3NT +1 630 11
DATUMSit T
EFKBA I 8kE5RA Y. X+ 14 | 22
KERIEER O S5/ ik 2 ait 14 | 22
Fat=sa Ly VIES -2 LA NN O V.P. 717 | 12.83
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x| | R | m | R | mee| e | 2 |er axe| 20| T
1 TS [ri] 4H +2 -480 [ri] 4H +2 -480
2 it [£3] 3NT -2 -200 [£3] 3NT = 600 13
3 panyiic] [£3] 3NT +1 430 1t 3NT +3 490 2
4 E=] [ri] INT = -90 [ri] 2D -3 300 9
5 it [ri] 6H = -980 [ri] 6H = -980
6 panyiic] x 3NT -1 100 x 3NT = -600 12
7 E=] 1t 3NT +2 660 [£3] 3NT +3 690
8 TS 1t 3C -1 -50 [ri] 2S -2 100 4
9 panyiie] 1t 3NT = 400 1t 3NT +1 430
10 | WHB 1t INT +4 210 1t 2NT = 120 3
DATUMSit T
HETFI LR y. o+ ] 15 | 30
Zot/EM Sy -12 PNIE/MNRE 7 ait 15 | 30
Z=Z5BR/5K B0 -7 XIS /PR el 1 12 V.P. 52 | 148
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A= A=
ERiI2BA Sleepless Sleepless BRI 2RA
It - B wBRE 1t : Fx AR
B B 7 N B B 7 B
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 |wkl 7@ | aH | +2 | 480 | & | 6s | = | 980 | 11
2 |gt] 4 | anT | +1 | 630 | & | aNT | -1 | -100 | 12
3 |%m| & | aNT | +1 | 430 | 4t | aNT | = | 400 | 12
4 |wal 46 | anT | = | 90 | 46 | onT | -2 | c200 | 5
5 |mit|] ® | eH | = | 980 | & | eH | = | -980
6 |mm| & | aNT | -2 | 200 ] % | anT | -1 | 100
7 |lwsl 46 | a0 | 2 | c200| & | a0 | 2 | 200]| 3
8 |wx| ®m | 2s | 2 | 00| & | 30 | -1 | s0 2
o |#zA| 4t | aNT | +2 | 460 | 4t | aNT | +1 | 430 | 12
10 |wal & |aNTx| = | 750 | 4t | 3NT | +1 | 630 | 3
DATUM&iit iFE
ERiI2BA Sleepless Y, -] 38
DER/SINE 15 BN/ EHhE 24 ait 38
EE/FaT 24 2 BEREAEXY -15 V.P. 18.97 | 1.03
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x| | R | m | R | mee| e | 2 |er axe| 20| T
1 |wxel & | an | +2 | 480 & | a1 | +2 | 480
2 |@t] m | 2¢c | = | 90 | & | aNT | +1 | 630 11
3 || & | aNT | +2 | 460 | & | aNT | +2 | 460
4 |wal 46 | s3c | 2 | 200 4 | 3¢ | -1 | -100 3
5 |mit|] ® | eH | = | 980 | & | eH | = | -980
6 |z#E| = | aNT | -2 | 100 | &= | aNT | 2 | 200 3
7 |wa| 46 | ac | -2 | ;200 | & | aNT | +3 | 690 13
8 |wx| &= |anT| 2| 50 | @ | 1s | -1 | s0
o |zm| 4t | anT | +2 | 460 | 4t | anT | -2 | 50 | 11
10 |wal 46 | anT | +3 | 180 | 4t | aNT | +2 | 120 | 2
DATUM&iit iFE
M@ E52PA Y, v 13 30
ENR/AFERE 20 HPER/EREF 2 ait 13 | 30
PREBIR/ AR -2 PRI s/ R EE 20 V.P. 4.71 | 15.29
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= TEN 7 GER & B 7 - R
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 TS [ri] 4H +2 -480 [ri] 4H +2 -480
2 it [£3] 3NT +1 630 [£3] 3NT = 600 1
3 panyiic] [£3] 3NT = 400 [£3] 3NT +2 460 2
4 E=] [ri] 2D -1 100 [£3] 2H -1 -100 5
5 it [ri] 6H = -980 x 4H +2 -480 11
6 panyiic] x 3NT -1 100 x 2S = -110 5
7 WE=] [£3] 3NT +1 630 1t 3NT +2 660 1
8 TS x 2D = -90 [£3] 2H +1 140 6
9 panyiie] 1t 3NT = 400 [£3] 3NT +1 430 1
10 | WHB 1t 2D = 90 1t 3NT = 600 11
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Ik BT % | o« | »

BB/ EiEX 8 DEER/ZEKIE 28 ait 11 32
MOFH/BRRIE  -28 mINEIRER -8 V.P. 3.82 | 16.18
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5 - B 7 Sgef N 7 - REE
x| | R | m | R | mee| e | 2 |er axe| 20| T
1 TS [ri] 4H +2 -480 [ri] 6H = -980 11
2 it [£3] INT +1 120 [£3] 3NT = 600 10
3 ,?ﬁ 1t 3NT +1 430 [£3] 4S +1 450 1
4 E=] 1t INT -1 -100 x 2S -2 200 7
5 it [ri] 6H = -980 [ri] 6H = -980
6 panyiic] x 3NT -1 100 x INT +1 -120 6
7 E=] 1t 3NT +2 660 [£3] 3NT +2 660
8 TS x 3D -1 50 1t 2H +2 170 3
9 panyiie] 1t 3NT +3 490 1t 3NT = 400 3
10 | WHB 1t 3C +1 130 1t 3NT +1 630 11
DATUMSit T
KIELIPA 410N Y. X+ 20 | 32
#rER/BA%E -1 TEEELE/FT/NER 14 ait 20 | 32
TR FXEE IR 14 SBE/ZEE 1 V.P. 6 14
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